
EQAO REVIEW #3

ALGEBRA AND NUMBER SENSE
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PROPORTIONAL REASONING  [image: ]							
[image: ]

GEOMETRY
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Draw a sketch to show how this equation could be used.





























RELATIONSHIPS
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[image: ]Determine the initial value.

Determine the rate of change.

Determine the equation.
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Draw a sketch to show how this equation could be used.
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[image: ]Determine the initial value.

Determine the rate of change.

Determine the equation.
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A regular pentagon is shown below.

5]
Whatis the value of x?
a 60°

e

a6 =
3
%
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Air is pumped to fill a spherical balloon.
Each time air is pumped, 300 cm® of air
enters the balloon.

Which of the following is closest to the
‘number of times air must be pumped to
fill an empty spherical balloon to a radius
of 10 cm?

a 4
b 14
c 30
d 42
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Consider the following equation:
=6 +10°

Which is closest to the value of ¢?

a 4

b6

c 12

d 16
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Manny is running a race at a constant rate. He records his distance from the starting line at particular
times as shown below.

Complete the table for this linear relationship.
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‘Complete the table for this linear relationship.

Time, £ Distance, D
) (km)
05 35
1.0
15 105
2.0 140
3.0
50
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‘The graph below illustrates the relationship
between the distance driven and the amount
of gasoline in the tank of a car.

Amount of Gasoline vs.
Distance Driven
G

8

20

10

Amount of gasoline (L)
8

0 100 200 300 400 500
Distance driven (km)

How many litres of gasoline are in the
car’s tank when the distance driven is
300 km?
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Alain designs a sail in the shape of a triangle for a boat.

height

————base———

‘The base and height are equal. The area of the sail is 18 m2.
Determine the height of the sail.

Hint:
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‘The cost of a phone call at a hotel is
determined by the formula C = 0.35¢ + 0.6
where C'is the cost, in dollars, and ¢ is the
length of the call, in minutes.

What is the length of a call that costs $5.85?
a 3 minutes

b 6minutes

€ 15 minutes

d 18 minutes
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‘The table below shows the cost of water for three customers. They each pay the same cost per litre.

Amount Cost
L) ]
10000 860
20000 1720
30000 25.80

Frank pays $36.12 for water at the same rate.

Determine the number of ltres of water that he purchases.
Show your work.
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‘The table below shows the price per case of
water at different stores.

store Price Number of
per case | 500 mL bottles
per case
Gheapies st7s s
Foodsmart $225 12
Variety Foods | 8450 20
Super Grocers | 8499 2

Evelyn s buying 120 bottles of water.
At which store should Evelyn buy her water

1o pay the least?
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Consider the diagram below.

x

60°

What is the value of x?
30°

60°

120°

150°

a o o w
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